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(1) The rigid rod ABCis éuspended frdm three wires of the same material

as shown in Figure 1.
G . 1
equal to half of the cross--sectjonhl pre of the wires at A and C.
. Determine the tension in eaf hlv_v;rfFu ed by the load P.  (24%, 8%

it

for each wire)

Figure 1
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(2) For the timber beam and ﬁ@_ﬂjg hown in Figure 2, (a) draw the

bending-mbment diagram-¢+ %Y dnd-(b) determine the maximum

normal stress due to loading (13%).

Figure 2
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3) Thé beam is subjected to the concentrated loading shown in Figure 3.

Determine (a) the reactions—g:t-ih/?l qué@[’t_s, EI is constant (12%), (b)

the deflection curve of the beafn (13%). .
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(4) Determine (a) the reactions fon thfb%n shown in Figure 4, EI is
§ of the beam (13%).

constant (12%), (b) the deﬁg‘c_:Jion qu
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